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Question 1: DISTRIBUE et REDUIS si possible. 

6 . ( a + 4) = .. ~O.. ta.y ... ... ......... .. ........ ... .. ... ... ... .......... .. ............. .. ..... . 

2 .(3+4x) = .(o.t .. 8.x ............................ .. ................. .... ... .......... .......... . 

( 4x - 3) . a= .. . W..QX.:-:-... J..01✓- ............... .. ......... ...... ..... .. ........ . .. .. .. .... .. 
G 

-a. ( 4b - a) = .. .. -:-; .4.~ .t. .,a..~ ...................................... ....... .. .. ... .. .. 

(3b - 2) . a2 = .. .... 3.D..~k. .-:-; .. &,0...~ ...................... .. ............ ... .. ...... . .. 

2x . (4x -1) = .. ~.'l< .. ~7. .U ........ ............................ .. ....... ..... ..... ..... .... . 

~ - 3 . 5 - /~~ - ~ . lo.< 
3x + 5. (1-Zx) - ...... . X .. .t .. . .... .. ÂO.X .. ............ , ... ~ .. t: .S" .. ......... ............... .. 

~ ~ Q . () L O l,, C.. . l:_, 
2x . (1 + x) + 4x . (2 - 2x) = .. ~ >(+ . .Q(...X. ....... t.: .. 8.K .. :-:- .. o.X: .... .. ~ .. J .O . .i .:;-.. \J,X .. .... .. .. . 

/o,c lv,c 
.Auestion 2 : METS tous les facteurs communs en évidence. 

zx + 4= ..... l .i . .Cx.t.JJ ............................................. . 
/7 

3a + 3b = ..... 3 ... {.A± .. ¾.) ............. . 

54 - 18a= ... .!.1.L.(.3.::: .. o} ........................ . 

9x - 6y = ___ J_, __ (3_).\ __ :_,ti}----------

2 7 xy + 3 6xz = ____ 9_).(., ___ (-.,1~ _____ -f:-___ h/f.b)---------------·--····-·· 

Zab - 6ac = ... ,2.<1., .. (Jc.-:· ... J9 ............. .. 
3ab +Sad+ abc = _____ Q,_, __ ('!Jr.:t.5J + k9 
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